2023 JmE =5 A A 2 Wi

IR S B )

—. BUUESER: R#EK 10/0E, SNE4 2, B0 SMNERAFNEATSRE .
.C 2.B 3B 4 A 5D 6 A 7.D & C 9%B 10.C
Z. fESEFEEE: HS5HE, e s HPE 128-F 1S EREHBSHAENXFIHA. A

EXNEENRESR, AEHEEEENTESD: FRETER, EEP XA
B E{EMEEL .
1. C15%r) (1) CD 345, Wik 40
(2) 603 (34
(3 fsls (3 %0)

X :
0 |
3
E:

4) k (3 4) b 3@
kg

12, (B 4r) fi#:
]

Cl VA P v, W K B ;ml'z = el (145
AN e BN pemy ¢4 o3
AT ER KR DMIA . = (1)
W A, = (14>

J2elm
(2) WEIBNRAT A W, Mor=3 BEY AR A BTN
eU=(E,-E)—W (D45
M n=3 Heel n] B ST
E,=(E— B —¥ C4E)
FikH A BT E, =E,,-eU (1 43)
E Sy
R 2R - e 2 E :rr . M RS
_7E, —
144

13. (8 9+ #F:
(1 5528 My B8R A irabtt s WE B i 7 U B RN pe, 5277 408 al |

P; 5= p ) (1 4>
B oy A R AR A, AR

P2 ES="p(2 = X (29
Wi x=04L (L

PifiE R vl oIh4 a0



(2)

AF A SR, MR R SRR S AR
pLS _ p(L+X)

4. (13 49 .

(1)

£

TN s
AUCETRIEIE My 2 i p S=pS+S oV )
i T, =211 ol 47 )

ot A Mg bR S e a3 N AR, fE s ¢ B
mgR— pmgl. = %mn (243
RNEAEHRE v, =4m/s (1 %))

) M AL B R AR Gl

RIS ETH myes my i my

R, "\ 4D T
PR A8 LB HE S 3 4 Emh % 5 ”?F#—z

n;

Yibed. B8/ %, TR E e, g

my, =0, mvy, =4m/s SF.

B ikt e m) S e iz, s e A a, 0N O 28 DRI (E] A ¢,
IS AR xs HUE TI00EE E H

mgsin@+ (L,mg cosd = ma (145

G v
WiiEa AN O=—v, +ai,, Ir=—§"f|

1 2
B i Ji7 i L5 ) B AT DIRIZ 8, DR TN a=12m/s, 5 15 ik FhE 14 1%
» ¢
EHIARTIER 4 =—=—s
a 4
EUMEEE  x, == Sm<x=—m (14
j FON " "-..j e =
=TTy 3 ’
BIG B WMABIUES, BN g = T2 =?725
'll."
NI A B 55— G 215 IR AT, P B (3z B ]
49 )
f:zl+f3+fj:55 £1 &2
) Wb A B R R, ISR, v, = v =3m)s
| I .
Yok AMIZNRRE, ., = Emv;ﬂ =435] S
WA gt MN, PLbkE Kk AE = 1ymgl =0.9) (1)

W A BB N Gt B3 A G IE A vas, T

MR P20 oI 4



| B
—mv,, = Enﬂ*;} + pmg 2L

2
3 v, =5.4m/s < 3m/s
ZIiath A 85 B 4

RN R FHERE KA

bt 4 5 MN HiZzaf1 2 fe s=L+

15, (16 7 fif.

MG, B MON st k%

£y

)

(1 7
Sl L I S ML it T

=L =54m £ 1)

Cly R CAERI Iz AN, 25 D0 R TR] el S0 /g (0] £
d=vt (LS
E |
AT v, = =Ly (143
' fil
AL v = Ju 3w (14h)
T Faw = \Ern (1)

(2R
riads. i

UZ A E L EE N P P,

gvB, = i 1 %)
r,
B 1E W3 e g n) I J’%IJHJELIEI
"
V= —{ (149D
-2
Wy = y—rcos45” G2
L qvB, = T C(14))
h
8mv
IRE B=——r7' (143
Hifl fﬁf‘f 1 3fi~‘d \ J}

(3) 4 (2) al®l, Bi: B=13, Wk 1{Ek%
gv, B, = & gv, B, = ”W‘: (14})
r r
a. B MBS W 8 fi, S L.

R LR AT
d =%2=r 41, (15
tan 3() -

Wt v, =43y, (14

PHFREE P 3 b4 i

Tz A) A7 |

BERLFERL S 1. 11 iz a1 50 5ok

.ﬁiﬁ [-I

#Y 15 R

: 2 =301,

> x X *
i 11
xﬁiﬁ L( %
% X,
JI'.J+_ _______________

15



b. ¥ M IE] A 55, PUs =R
S RIS Y |

i : x2=(n-1)" +nr, (2%
tan 30 "
[H_L 2’ 3 ...... )

. 16430y
Wiy, = By gy

(4n-3)

(n=1,2, 3, )

15 P



